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And what if by an 177> 72y who escaped and an 375 nwX who rebelled
against her husband, etc.

OVERVIEW:

The X773 continues its explanation of »"9 that MW is a 21 for 72V, since he can
run away and still eat 72170, However n"1 also includes 172 nwX that she can eat
72170 even if she rebels against her husband. n190I1N explains why it was necessary
for n"7 to discuss TWX where everyone agrees that v is a 217 for her.
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1" mentions 372 NN, meaning that just as you admit to me regarding an nwN

172 that v3 is a 27 for her, so too should you admit to me regarding 73y that it is a
2117 for him, since they both lose the 770 rights.

299 19998 299NP X971 19N 39 99310 590 1Y NI 23N AWNA YAN 913 DONT N
And that which the Xn>»12 also concluded, '7® X7 2w 7wR 9ar' (but by a
woman it is a 27 for her), it is all a continuation of s'%»''% argument, since the

xn>72 did not interject the words Y2 1 2K (we said to him [to »n"1]) before the
words of nwX 92X, as the Xn*92 interjected previously each time a different party made a
statement.

SUMMARY
n"1 argued that just as it is a 2717 by WX it is similarly a 2117 by the 72v.

THINKING IT OVER
According to mo0In that 7" made the argument of "1 7wXa HaR; why does it say
'>aX', which (seemingly) indicates that 77wX is different from 72y?’

' The xm3 knew that "1 was comparing an 72y to an 7@X since in the original Xn>12 (on 2,2°) it clearly states: “ax
431 772 X7 297 7wN; indicating that n" was referring to TwX in his argument as N9on explains here.

2 moIn rejects the notion that WX 2K was said by the 1121 to differentiate nwx from 72y [see "W on 728 7"7 2,2°],
as MooIn proves that it cannot be the 1327 since the Xn>12 did not insert Y2 111X as it did the previous times.

? See w"w1 and 2 MR 70,
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